
13.7 mm

4.95 mm

2.03  (ref.)

tap M3x0.5
8 places

67.1 mm

15.3 mm

12°

23.2 mm

2.12 mm

6.35 mm

12.4 mm

Tap M3x0.5 (8 places)

ø 6.76 ø 0.870"

ø 41.45

2.00 (ref.)

32.5 mm

37°

30°

3.18 mm

11.33 mm

2.03 mm

1.98 mm

Notes:
1. Inlet to nozzle throat to be well-rounded.

ø 33.1

ø 45.67

ø 33.63

ø 26.26

ø 41.28 mm

ø 12.2 mm ø 8.73 mm

ø 34.86 mm

ø 41.43 mm

1.8 mm

ø 45.57 mm

A A

Section A-A

0.076

0.104

0.125

Bulkhead O-Ring groove detail

tap 1/8 NPT

ø 45.69 mm

ø 47.65 mm (ref.)

ø 5.5 mm  8 places

ø 5.5 mm  8 places

A

A

Section A-A 6 mm

ø 48.4 mm

ø 40.1 mm

8.5 mm (Ref.)

11.1 mm 11.1 mm

Chamfer  0.3 mm
(16 places)

CROWN RING

3.58 mm

6.35 mm

BULKHEAD

NOZZLE

9.50"

CASING

Section B-B

B
B

-129 o-ring

End inhibitor

Crown ring

Attachment screws (8 pl.)

Attachment screws (8 pl.)

Bulkhead

-129 o-ring

End inhibitor
Propellant grain
(RNX composite)

2. Lubricate o-rings with silicone grease.

3

Apply mastic putty between ring and nozzle seat3

Chamfer  0.3 mm

Chamfer  0.3 mm

4. Attachment screws M3 x 0.5 x 6 mm Socket Head cap screws
    (1100 MPa UTS alloy steel)
5. Crown ring material: ABS plastic

Epoch Solid Rocket Motor

Design: R.A.Nakka
Rev. :     NC
Date:     2005/09/05

6

0.8 mm cardboard6


